| 3 . 4

2

NOTE: DOURLE TRACK LOW
HEADRCOM,. HI-UIFT TRACK,
FOLLOW--THEROOF TRACK,
AND VERTICAL LIFT YRACK

ARE AVAILABLE OPTIONS. 37
TRACK ALSQ AVALABLE.

HORIZONTAL TRACK SUPPGRT BY

DOOR INSTALLER (TO SUIT)

TRACK THICKNESS: .10%"

-

'—VS" GALY, TAPERED STEEL TRACK AND ANGLE,
ANGLE THICKNESS: .080"

bl

VERTICAL/HORIZGNTAL TRAGK
\\m.:uucmw. WG 1/4" BOLTS

14" MAXIMUM SPACING

UP_Td 22°-2” WIDE X 18'-0" HIGH REVISIONS
MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
MODELS 524, 520/ 224/ C4ST, COST 02 - 11/2008 - - ADDED MPC; UFDATED JAMB ATTACHMENT.
INSULATED MODELS 5248, 520S, 524V/ 2245/ C4SS, COSS, C4Sv 03 - 02/2012 - - UPDATED WINDCODE CHART
. - - - FOR T
éEA[éxESR}”ﬂAEi = |~ ~ OPTIONAL STOP MOULDING BY 04 08/2012 REVISED FOR TOI
DOOR INSTALLER (T SUIT. 05 - 06/2013 - - REMOVED ACRYLIC GLAZING OPTION.

16 GA. MIN, GALV. STEEL <END> STILE FASTENED
70 DOGR SKIN WITH TOG-L~LBC SYSTEM,

3" TALL x 2¢ GA. GALY. STEEL (MIN, YIELD

o —— FROM LAST MOUNTING 18 GA, MIN. GALV. STEEL (INTERMEDIATE) STILE
5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION FASTENED TO DOOR SKIN WITH TOG-L-L{C SYSTEM. STRENGTH SOKSI» U-BAR. ATTACHED ONE AT
m -——:,\ THE TOP OF EACH SECTION £ACH U-BAR
[ | ATTACHED WITH @ 1/4°x3/4* SELF TAPPING
ADDITIONAL MOUNYING SLOTS REQUIRED FOR DOORS s !
S OVER 7'0" HIGH SPACED AT 12° CENTERS. ? l T SECTION B-—B SCREWS FER STILE LOCATION.
] —fr— "
i
b " L2 CONPIGURATION SEE JAMB 14 GA. GALV. STEEL ¢CENTER) HINGE. (SEE VIEW “B®
& |t ONE Ji" TRACK BOLT AND NUT ATTACHMENT ADJUSTABLE TUP RULLER BRACKET DF 12 GA. [~
w Cécﬁl%'-rle MOUNTING SLOT £l LUSTRATIONS 7716 PUSHNUT INSTALLED ON ROLLER SHAFT SECTIONS ARE 1=7/8° THK / GALV. STEEL, INSTALLED ON DOOR WITH ¢4}
o ) #14x5/8" SHEET METAL SCREWS AND TRACK 14 GA. GALV. STEEL (END) HINGE. (SEE VIEW ‘A" PANELS RILL FORMED OF 0227 #14 X 5/8° (G SHEET METAL SCREWS. ¢ 2
s |7 DETAILS. MIN. HOT DIPPED G-40 BRACKETS PER SIDE)
a 3" STEEL LONG STEM ROLLER GALVANIZING, ROLL FORMED
T = -;-'-} 47™x3 /47 SELF STEEL. 8"
@ W TAPPING SCREWS. 8" C—CHANNFL OPTIONAL INSULATION —_VlEW C
% 0 — <SEE #ODEL £XPLANATION) "oy
EVERY 127 14 GA. END_HINGES . A 6 GA GALY. STSEL 2-1/2"
. S . - — —
ATTACH ON EACH HINGE AS SHown -i—CA INTERMEDIATE HINGE =S MIN YIELD STRENGTH S0KSI
- (4) #14 X 5/8° LG. SHT, MTL. SCREWS ATTACH ON EACH HINGE AS SHOWN  OPTIONAL ALUMINUM FULL VISION WINDOW LITE — C
1 MND (@ 1/47x3/4" SELF-TAPPING SCREWS.  WITH (4) 1/4° X 5/8°SHEET METAL SCREWS  SECTIONS AVAILABLE (1/8" 9SB). FULL VISION ViEw g 5/8" ] L
VIEW A" view "g* SECTIONS TO HAVE SAME REINFORCEMENT AS " "
i VR OTHER SECTIONS EXCEPT AS NOTED. ATTACH THE 67 x 2—1/4'% 12 GA. STEEL .
3-1/2 REINFORCING PLATE ;o THE UNDERSIDE GF THE {1) 6"%16 GA. C—~CHANNEL PER DOGR
C~CHANNEL WITH (4} 1/4"x3/4” SELF TAPPING SECTION. (1) 1/4"x3/4" SELF TAPPING
ADJUSTABLE TOP ‘ FOR CLARITY RIBS NOT_ SCREWS AT THESE (3) LOCATIONS. SCREW PER STILE LOCATION. (SEE VIEW "C™)
DHOR HEIGHT ac [NUMBER OF DQOR | ROLLER BRACKETS SHOWN ON BACK VIEW A
SECTIONS HSEEGQI L \
-0 P =07 il INSIDE_S{SDE BOLT ZA 7 2 Pz P P P P P P P
83" THRY 10'~0° 5 9°-0" 11007 . # i # ,’é 7 U-BAR SEE SECTION 8" X 2-%" X 12GA. STEEL PLATE. SEE VIEW "E"
10°=3* THRU 12-0* bt 100112 SUDE BOLT LOCK ; A~A FOR DETAILS - .
127-3* THRU 14'-0" 7 12011367 ENGAGES INTOQ VERTICAL N—— — 4
147-3° THRU 16'-0* 8 14°-0"{160" TRACK. ONE LOCK ON C--CHANNEL. SEE
16'-3" THRU 18-0¢| 9 1501172 EACH SIDE OF DOOR. /_ S Ny END HINGES DF MIN. 14 GA, GALV.
Yy 6 01184 STEEL, FASTENED WITH ¢4) #14 X
MAX. SECTION HEIGHT: 24 7 ~07196" WO POINT L. — — p $/8° LG, SHT, MTL. SCREWS AND
§-01208 . - (@) 1/4°%3/4* SELF-TAPPING
- (MIN) LOCKING @ ! - SCREWS. QTY-2 HINGES PER SIDE
E OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE REQUIRED i
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE PR e oty ) sy e 6" C—CHANNEL STRAP; ]
OR INTERNATIONAL BUILDING CODE BUT DOES MOT MEET THE i - (7) STRAPS PER
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS op° i i SECTION. OFTIONAL 1-1/4*WIBE X 16 GA GALV. STRAP, B
REGIONS (FBC / IBC CHAPTER 18). | 8 FULL VISION SECTIGNS EACH STRAP ATTACHED WITH (3 1/4% X
A o HAVE (9) STRAPS PER 3/4* SELF TAPPING SCREWS. TWO
. SECTION. SCREWS T0 BOOR, OME SCREW T
, [ o C-CHANNEL.
3" ROLLER CARRIER e ¢3) CENTER HINGES PER SECTION ee—! TP,
e ST 0%
FILLED WiTH 3 n
SEEL B | Concrete, But SELF BRILLING ; 22°-27 MAX ! —
NOT REQUIRED. SCREWS AS SHOWN Z . » F BOTTOM ROLLER BRACKET 0OF 12 GA. MIN.
e i St ey s oorone stk o |l | SOV STERL, FASTIED MITH QRudit
o : o LR LAY
eivione CENTER STILES ALWAYS 22" FROM CENTER go ICENéElR.NFaT Bibe. ook OF 6 (e rom e FOLLOMG I 578" LG SHT. MTL. SCREWS .\ Yoy, ',
ELECTRODE MIN.). WELD ANY GIVEN DOOR WIDTH, DIMENSION "B’ THIS DIMENSION WiLL CONDIFIONS: 5) ENCLOSED HULDING, 2) DOOR HAS 2 OF i BOTTOM SECTIGN Rﬁ‘ﬁ?ﬂ@&sn’* WITH
1(;% i‘;:{ &OCQF%4WRT€WY TEEL JAMBS NOT BE GREATER THAN 23" OR LESS THAN 18 WIDTH IN BULDING'S END ZONE, 3) IMPORTANCE FACTOR OF 19) TEMPERED ALUMINY TRUSEHN WfTH . ':, /
ENTER AND 1/4" YACK “12 Gh GALV. REVERSE 10, &) ROOF SLOPE LESS THAN 10', AND S} SO SAFE ¥ " INTEGRAL RETMN& BR, ;.Exmgr_ VIN’m
D O T ANGLE AT Nt FasTenED | ANCHOR NOTE: FIRST {BGTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM IF THESE (5) CONDITIONS ARE NOT MET, A LICENSED ' ASTRAGAL & £ ¢
- DIRECILY TO STEEL JaMB] ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. . ENGINEER SHOULD BE EMPLOYED TO DETERMINE IF THIS . y

JAMB ON

2,000 PSE MIN
CONCRETE

3/8" DiA, x 1—%/2" EMBED
MIN. SLEEVE ANCH
WASSER $NC§_D

11"

TC SECUHE 2x5 JAMB

NGRET]

*MIN. EDGE DIST.

KONTINUOUS ANGLE MOUNT

TRACK FASTENED TO 2x6 42 OR
BETTER YELLOW PINE JAMB WITH
ONE_5/16"x1-5/8" LG. {1AG
SCREW PER TRACK CUP
1.0CATION.

CONCRETE JAMBS

2,00C PS5 MIN
CONCRETE

LAENI-1/20 MIN,
EMBED SELF--TAFPING
CONCRETE ANCHOR.
t WASHER REQ'D.

9" MAX. 0.C.

-3 TO SECURE ANGLE
.} T co

REVERSE OR CONTINUQUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

TO CONCRETE.

CRETE,
MiN. EDGE QIST.

MARK WESTERFIELD, P.E,
FLORIDA FE, No. 48485,
NC P.E. #23832, TEXAS PE

s JAM

3/16" MIN. STEEL
JAMB

WoOoD _JAM

38781727 MIN,
EMBED LAG SCREW

#21513

SECTION_A--A (SIDE VIEW

130

WiND_SPEED {(MPH)| £ 139 3120 120
EXPOSURE LEVEL |8 or G H

MEAN ROOF HEIGHT| 30°

30"

[4
26’

]
ki

DESIGN LOADS: +30 & -30 P.S.F. HRING PRBEUC"“ cope: ¥

s |
TEST LOADS: +45 & —45 P.SF. %ﬁ P ~PAN— E448 |

AP /4 [-1/8 WASHER REQTD
MAY BE BACK~FILLED X34 20" Max. O.C.
WTH CONCRETE, BUT gg'h’:__v}‘“igl“c SEQURE 2%6 wooo
e | | [ s BB TS
: m GEEC%E C'SNK [F NEEDED,
THE DESIGN OF THE
i SR T s mry | CLOPAY, CORP. o
o e Buioms enonem ok | ALL RIGHTS RESERVED. -00
CONTINUOUS ANGLE MOUNT ARGHITECT OF REGORD. 000
TRACK FASTENED TO 2x8 f2 OR 0000
BETTER YELLOW PINE JAMH WTH -
REVERSE OR CONTINUOUS ONE 5/16"x1—5/8" (5. LAG - Degrees
ANGLE MOUN;‘ET?LACK Eggﬂos:‘en TRACK CLIP Third Angle
FASTENED DIRECTLY . seeti
TO STEEL JAMB. Projection

L O |

Uniess Stated Otherwise

TOLERANCES are

+.031
+.015
+.005
+.001
+1/2

Unless Stated Otherwise
DIMENSIONS ARE 1N INCHES.

. 8585 Dyke Bouievard «;L’mpm wmnwm Rm@
Clopay |

Mason, OH 45040 USA s
Buiding Products Company. Fax No, 513-770-4353 \’\/; xBfe

Tel. No, B13~770-4800
DESCRIPTION:  COMMERCIAL RIBBED DOOR, +30/—30 PSF DESIGN LOAD,

DRAWN BY: RJK DATE: 11/02/04 SCALE: NONE  |pwa.
CHECKED BY: MWW  |DATE: — SHEET 1 OF 1 [SIZE
DWG. NO.: 103319 VER: 18c

"

3




